9.3 Notes Midpoint Formula & Partiioning a Segment
W

. arm- Up

Name:

FMAIe Surc egrations Ore 'n Sto Intrtept 4oy

Provide an example of
a line that would be
parallel to:

1.8%=
59

e m*

= B9
Ex:ij

[9=2x £ ]

Provide an example of a | Provide an example of | Provide an
line that would be a line that would be example of a line is
perpendicular fo: neither parallel or coincidental:
perpendicular: (S St £ Same
- Y -intercept)
2 4=y P2 L | aymgun ML |4 20T
- 51 _ ]
hyTaxi e b |-
Ex: DWKL 1 Ex: -\ =
VX itg:»uxi-#

(i ot Hadrsle oo SEG AL &t Viowe (an Wic Qg fiaing fo- 5).

Midpoint Formula (not on formula sheet)
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Partition the segment by the given ratio:
1. (-14, 3) & (10, -4); 1:2b

x'l '4' XL y?—

-—1‘1+(~——]{;o—[—'4) = -l

A AR

2,

T e a8y

ft\"

Af”“’S)

Partition the segment by the given ratio:
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